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63-E

General Instructions :

i)

i)

vi)

vii)

The Question-cum-Answer Booklet consists of objective and subjective types of
questions having 54 questions.

Space has been provided against each objective type question. You have to
choose the correct choice and write the complete answer along with its alphabet
in the space provided.

For subjective type questions enough space for each question has been
provided. You have to answer the questions in the space.

Follow the instructions given against both the objective and subjective types of
questions.

Candidate should not write the answer with a pencil. Answers written in pencil
will not be evaluated.

In the case of Multiple Choice, Fill in the blanks and Matching questions,
scratching / rewriting / marking is not permitted, thereby rendering them to
disqualification for evaluation.

15 minutes of extra time has been provided for reading the question paper.

Four alternatives are given for each of the following questions / incomplete statements. Only

one of them is correct or most appropriate. Choose the correct alternative and write the

complete answer along with its alphabet in the space provided against each question.

15x1=15
1. Bhima was not willing to jump over the monkey because
(A)  he thought that he would be accepting defeat
(B) he had no strength
(C) it was against the scriptures
(D) he didn't like to heed the advice of the monkey.

Ans. :




Bhima asked the monkey to forgive him when he

(A) could not jump over the monkey

(B) came to know that the monkey was Hanuman

(C)  could not move aside the monkey's tail

(D) saw the monkey standing like a mountain.

Ans. :

63-E

How can you say that Gandhiji was not a slow learner ?

(A) He always enjoyed the affection of his teachers

(B) He didn't have a bad certificate

(C) He won many prizes for good conduct

(D) He obtained merit scholarships.

Ans. :

Why did Gandhiji dislike gymnastics ?

(A) He wanted to serve his father who was ill

(B) He had no time to attend the class

(C) He was physically weak

(D) The teacher of gymnastics was strict.

Ans. :
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63-E 4
S. The Duchess could not control her grief and anger and went on strike when
(A)  she came to the village
(B) she was teased by her father
(C)  her brother and mother decided to live in the village

(D)  she saw a scrap book sent by her teacher.

Ans. :

6. Why didn't the Duchess sit down at the table ?
(A) She was angry with her father
(B) She was not hungry
(C) Her father had scolded her

(D) She was on strike.

Ans. :

7. The one word for an instrument used to see distant object is
(A) microscope (B) telescope
(C) micrometer (D) electrometer.
Ans. :

8. Vishwanath was known ..................... his charity.

The suitable preposition to be filled in the blank is
(A) in (B) from

(C) to (D) for.

Ans. :




10.

11.

12.

13.

5 63-E

Raju went to market ................... he bought many dresses.

The conjunction to be used to fill in the blank is

(A) so (B) because
(C) but (D) and.
Ans. :

Chandrasekhar had .................... passion for the game.

The article to be filled in the blank is

(A) a (B) an
(C) the (D) no article.
Ans. :

The word that does not rhyme with 'learn' is

(A)  turn (B) furn
() mourn (D) burn.
Ans. :

The word that takes the prefix 'in' is

(A) regular (B) known

(C) corporate (D) legal.

Ans. :

When I went to Hari's house, he was ................... the plants.

The correct form of the word to be filled in the blank is

(A)  water (B) watering
(C) watered (D) waters.
Ans. :
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14.

15.

16.

17.

Sheela's voice is as sweet as nightingale.

The figure of speech used in the sentence is

(A) simile (B) metaphor
(C)  personification (D) alliteration.
Ans. :

Krishna is a strong boy.

The underlined word in the sentence is a/an

(A) noun (B) verb
(C) adjective (D) pronoun.
Ans. :

Fill in the blank with suitable auxiliary verb :

Why .coeiviennns you not come to my house yesterday ?

Ans. :

Fill in the blank with suitable tense form of the verb given in brackets :

Raju got many prizes because he .................... ( play ) well.

Ans. :




18.

19.

20.

21.

7 63-E
The noun form of ‘guide’is ......ccccevvevenininn. . 1
Ans. :
The opposite word of ‘broad’is ......ccoecvevenvininnnns . 1
Ans. :
Choose the correct word from the brackets to fill in the blank : 1
The elders should .................. the youth to do right things. ( advice, advise )
Ans. :

Match the words in List-A with their meanings in List-B. Write the correct answer in

the space provided :

Ans. :

List-A
unique (i)
feat (i)
calibre (i)
savage (iv)
clatter )

(vi)
(vii)
(viii)

a)

c)

e)

5x1=5

List-B

achievement

violent

a long continuous noise
happy

different from others
happened

the ability of a person

valley.

b)

d)
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Answer each of the following questions in two or three sentences : 13 x2 =26

22. Why did the postmaster call Andy a stupid rascal ?

23. Why did the teacher ask the students to stand up as a punishment ?

24. How can you say that Narendranath was alrounder ?

25. How can you say that Chandrasekhar was a great fan of Mukesh ?

26. What does Gavaskar say about Chandrasekhar ?




9 63-E

27. How did the Government of India honour Kalpana ?

28. How was Shakuntala Dhamankar able to inspire young men and women ?

29. Why did the king send boiled eggs to Daksha ?

30. Why does the poet compare his mother to a jungle bear ?

[ Turn over



63-E 10

31. How does God move as narrated in the poem God Moves In a Mysterious Way ?

32. What does the poet say about his bed and throne in Tartary ?

33. What does the poet Gabriel Okara want to relearn ?

34. Why did the neighbours come running up to the miser ?




Read the following extracts and answer the questions that follow :

35.

36.

11

“Go back, you scoundrel or I'll horsewhip you.”

a) Who is the T’ ?

63-E

5x3=15

b) Where does the speaker want him to go back ?

c) Why does he want him to go back ?

“He set up Sarabhai Chemicals.”

a) Where did he set up Sarabhai Chemicals ?

b) What does it produce ?

c) Why did he set up ?

[ Turn over



63-E 12

37. “She left India as a student, but would see the nation of her birth all of it from

hundreds of miles above.”

a) Who is ‘she’ here ?

b) Who said this ?

) Why did he say so ?

38. “Cophetua swore a royal oath.”

a) Who was Cophetua ?

b) What did he swear ?

C) What made him swear ?




39.

40.

13 63-E
“British Quit India.”
a) Which lesson is this extract taken from ?
b) Whose slogan was this ?
) Where did she shout the slogan ?
4

Quote from memory :

SWeEEt HttLe oottt e
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Answer each of the following questions in five sentences : 2x4=8

41. What do you understand about the countries that fight against one another ?

OR

Narrate briefly how Daksha solved Pandit's problem.




15 63-E

42. In the poem ‘Work is Worship’ how the poet Rabindranath Tagore passes his message

to the devotees ?

OR

Write the summary of the poem ‘Tartary’.
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63-E 16

Rewrite as directed :

43. Change into passive voice. 1

The teacher writes the answers on the blackboard.

44. Frame a question to get the underlined words as answer. 1

Radhika has done her Ph.D in Mysore University.

45. Combine the sentences using ‘either .......... or to get a meaningful sentence. 1

Ramesh likes to play cricket. He likes to play football.

46. Combine the sentences using ‘too ........... to’ to get a meaningful sentence. 1

North India is very cold. I cannot visit now.

47. Write the other degrees of comparison : 2x1=2

The rose is the most beautiful flower.

a)

b)




48.

49.

17 63-E

Change into indirect speech. 2

“Where are you going now ? ” he said.

Imagine that you are Rakesh / Rashmi, Swami Vivekananda High School,

Chandapura.

Write a letter to your friend, telling him about Gandhi Jayanti celebration in your

school. 5

OR

Write a letter to your headmaster/headmistress of your school, requesting him/her to

grant you T.C. and marks card.
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Read the following passage and answer the questions that follow :

Once there was a rich man living at a small village. He was a businessman. He earned
money with much risk. He went on horseback and did his business. He was returning
home, when a heavy rain overtook him in the forest. He was drenched to the skin. He
complained to the God for such bad weather. Suddenly another man on horseback came
rushing towards him. He had a gun in his hand. “Give me all your money or [ will shoot
you.” He had a lot of money. He knew that he would lose all. Suddenly his horse turned
round. The man shot him. But nothing happened. He realized that the gunpowder was wet

and would not work. He charged his horse and rode safely away.

He thanked God for the rain. If there was no rain he would have certainly lost his
wealth. God protected him sending the rain. So one should know that God will be there,

even in little things to protect us.

50. How did the rich man earn money ? 1

51. Who attacked the rich man ? 1
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63-E 20

52. How did the rich man escape from the robber ?

53. What moral do you learn from this story ?

S54. Write a paragraphs on any one of the following topics :
a) National festivals

b) Uses of forest

C) Television.




21
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